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BSc MICROECONOMICS- II SEMESTER

SEMESTER EXAMINATION: APRIL 2019
ECS 2118: MICROECONOMICS- II
Time: 2.5 Hours                                                               Maximum Marks-70
This question paper has 2 printed pages and 3 parts

Part A. Answer any TEN of the following:                                       3 X 10=30

1. A perfectly competitive firm has total cost function C = 450+15q+2q2. If the market price is Rs. 115 per unit, find the level of output produced by the firm and the profit.
2. Explain the difference between monopoly and monopolistic competition with example.
3. Discuss the difference between static and dynamic stability conditions.
4. Discuss with examples the difference between second-degree and third-degree price discrimination for a monopoly firm.

5. Explain the deadweight loss that exists when one competitive industry is monopolized. Use suitable diagram.
6. Discuss Lerner’s measure of monopoly power.

7. What is meant by the Point of Bliss in Welfare Economics?
8. Distinguish between Bentham’s criterion and Cardinalists’ criterion.
9. State the difference between partial and general equilibrium.

10. State the first and second fundamental theorem of welfare economics.
11. What is meant by the marginal productivity theory of distribution?

12. Is there any difference between value of marginal product (VMP) and marginal revenue product (MRP), when there is imperfect competition in the product market, but perfect competition in the factor market? 

Part B. Answer any TWO of the following:                                         5 X 2 = 10

13. Tom sells pigeon pies from a pushcart in Cubbon Park. He is the only supplier of this delicacy in Cubbon Park. His costs are zero due to abundant supplies of raw materials available in the park. The inverse demand curve for pigeon pies was P = 100 – Y, where the price is measured in rupees and Y is measured as the number of pies sold. What level of output will maximize Tom’s profits? What price will Tom charge per pie?
14. Critically examine Kinked demand curve model of Oligopoly. Use possible diagram.
15. Explain with diagram the difference between monopolistic and monopsonistic exploitation in factor price determination.
Part C. Answer any TWO of the following:                                        15 X 2 = 30

16. a. Explain the relation between price discrimination and price elasticity of demand for a discriminating monopolist.

b. A discriminating monopolist produces his product using the cost function C = q2 + 10q, (q = q1 + q2). He sells his output in two markets and the demand functions in these markets are: q1 = 32 – 0.4p1, q2 = 18 – 0.1p2.

· The monopolist is able to price-discriminate between the two markets. Determine his price-quantity combination in each market. What is his total profit?                                                                                                         

· Suppose, price discrimination is prohibited and the monopolist charges the same price in both markets. Determine his price, output and profit.         
                                                                              (5+5+5) = 15
17. a. Conceptualize the reaction function in the context of Cournot duopoly model.                                                                                                
      b. Assume that in a duopoly market, the demand and cost functions of the duopolists (Firm A and B) are: P = 100 – 0.5(q1 + q2), C1 = 5q1, C2 = 0.5q22, where q = q1 + q2. 
      - Find the equilibrium price and quantity combination, if the two firms follow Cournot behaviour. 
      - Find the cartel quantities and profit, if the above two firms collude with each other.                                         
                                                                                            (5+5+5) = 15                                                        
18. a. Examine how social preferences can be derived from a group of differing individual preferences.                                                                                   
b. Explain the product exhaustion theorem in the theory of distribution and factor pricing.                                          
                                                                                       (10+5) = 15                                                 
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